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TNPSC DEO MAIN EXAM – 2023 
WALKIN TEST - 2 

 

Total Marks: 60               Time: 45 Mts  
 

Section A 
3 x 10 = 30 

Answer the following in 150 words each 
 

 
1. Answer the following questions 

 
a. Kumar borrowed Rs. 52000 from a money lender at a particular rate of simple interest. 

After 4 years, he paid Rs. 79040 to settle his dept. At what rate of interest he borrowed the 
money? 
Fkhh; xU tl;bf;filf;fhudplkpUe;J xU Fwpg;gpl;l jdp tl;b tPjj;jpy; 4 tUlq;fSf;F 
&. 52>000 j;ij fldha; ngWfpd;whh;. mth; &. 79040 ia nrYj;jp mth; flid 
milf;fpd;whh;. ve;j tl;b tPjj;jpy; mth; flidg; ngw;whh;.? 
 

b. A sum of money amount to Rs. 5200 in 5 years and to Rs. 5680 in 7 years at simple interest. 
Find the rate of interest per annum. 
xU njhif jdptl;bapy; 5 tUlq;fspy; &.5200 MfTk; 7 tUlq;fspy; &.5680 MfTk; 
cah;fpd;wJ. Mz;L tl;b tPjk; fhz;f. 

 

2. Answer the following questions 
 
a. What sum is invested for 1½ years at the rate of 4% p.a. compounded half – yearly which 

amounts to Rs. 1,32,651? 
miu Mz;Lf;F xUKiw tl;biar; Nrh;f;Fk; Kiwapy; xU njhifia Mz;L tl;b 4% 
tPjk; jUtjpy; 1 ½ Mz;LfSf;F KjyPL nra;jhh;. Kbtpy; &.1>32>651 ngw;whh; vdpy; 
mth; KjyPL vt;tsT? 

 

b. Find the amount and the compound interest on ₹ 6500 for 2 years, compounded annually 
the rate of interest being 5% per annum during the first year and 6% per annum during 
the second year.     
Kjy; Mz;by; Mz;Lf;F 5% kw;Wk; ,uz;lhk; Mz;by; Mz;Lf;F 6% vd;w tl;b 

tPjj;jpy;> 2 Mz;LfSf;F ₹ 6500 f;F nkhj;j njhif kw;Wk; $l;L tl;biaf; 
fz;lwpaTk;. 

 

3. Answer the following questions 
 

a. A refrigerator is purchased for ₹ 14,355, including sales tax. If the actual cost price of the 

refrigerator is ₹ 13,050, find the rate of sales tax.  

tpw;gid tup cl;gl ₹ 14>355 &gha;f;F Fspu;rhjdg; ngl;b thq;fg;gLfpwJ. Fspu;rhjdg; 
ngl;bapd; cz;ikahd tpiy ₹ 13>050 vdpy;> tpw;gid tup tPjj;ij fhz;f. 
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b. The cost price of 16 boxes of strawberries is equal to the selling price of 20 boxes of 
strawberries. Find the gain or loss percentage. 
16 ];l;uhngup gog; ngl;bfspd; mlf;f tpiy 20 ];l;uhngup gog; ngl;bfspd; tpw;gid 
tpiyf;F rkk; vdpy; yhgk; my;yJ el;l rjtpjk; fhz;f. 

 
 

SECTION B 
2 x 15 = 30 

 
Answer the following in 250 words each 
 

4. Answer the following questions 
 
a. The difference between simple and compound interest on a certain sum of money for 2 

years at 2%p.a is ₹1. Find the sum of money.  
2% Mz;L tl;bapy;> 2 Mz;LfSf;F Xu; mrYf;Ff; fpilj;j $l;Ltl;bf;Fk; jdptl;bf;Fk; 
,ilNaAs;s tpj;jpahrk; &. 1 vdpy;> mry; njhifia fhz;f. 

 
b. Sheela has paid simple interest on a certain sum for 4 years at 9.5% per annum is ₹21,280. 

Find the sum. 
~Pyh vd;gth; xU Fwpg;gpl;l mrYf;f 4 Mz;LfSf;F 9.5% tl;b tPjj;jpy; jdptl;bahf 
&.21>280 Ir; nrYj;jpdhh; vdpy;> mriyf; fhz;f 
 

c. In how much time will a sum of Rs.1600 amount to Rs.1852.20 at 5% per annum 
compound interest. 
&.1600 MdJ 5% Mz;L $l;L tl;b tPjk; nfhz;L vj;jid Mz;Lfspy; &.1852.50 
MFk;? 

 
5. Answer the following questions 

 
a. A Man sold two gas stoves for Rs. 8400 each. He sold one at a gain of 20% and the other at 

a loss of 20%. Find his gain or loss% in the whole transaction?  
xU egh; ,uz;L vhpthA mLg;Gfis jyh & 8400 f;F tpw;whh;. xd;iw mth; 20% 
,yhgj;jpYk; kw;nwhd;iw 20% el;lj;jpYk; tpw;whh; vdpy;> mtUf;F Vw;gl;l ,yhg my;yJ 
el;l rjtPjj;ijf; fhz;f.  

 
b. A trader buys and article for Rs. 2400 and marks it 30% above the C.P. He then sells it after 

allowing a discount of 20%. Find the S.P. and Profit percent.  
xU tpw;gidahsh; xU nghUis & 2400 f;F thq;fp mjid mjd; thq;fpa 
tpiyapypUe;J 30% cah;j;Jfpwhh;. cah;j;jpa gpd;  20% js;Sgb mspf;fpwhh; vdpy;> 
mjd; tpw;wtpiy kw;Wk; ,yhg rjtPjk; vd;d?  

 


